Anatomy Questions

1. Which of the following does not rotate the femur?
a. piriforimis
b. obturator externus
c. gemellus superior
d. quadratus femoris

e. teres major

2. One of the origins of the pectoralis major originates on the
anterior surface of the medial half of the clavicle.

[ True [ False

3. The action of the soleus is...
a. dorsi flexion of the foot at the ankle
b. everts the foot at the ankle
c. plantar flexion of the foot at the ankle

d. gives medial ankle stabilization

4. Which of the following muscle(s) flexes
the thigh at the hip?

a. latissimus dorsi
b. psoas major
c. popliteus

d. iliacus

5. The middle deltoid...
a. abducts the humerus at the shoulder

b. adbucts and laterally rotates the humerus
at the shoulder

c. depresses clavicle, pulls it inferiorly
and anteriorly

d. elevates and rotates scapula upward
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10.

The brachialis originates on the radius.

[ I True [ False

Which of the muscles is not one of the
Rotator Cuff Muscles?

a. teres minor
b. teres major
. subscapularis

d. infraspinatus

The femur articulates with which of the
following structures?

a. glenoid fossa
b. calcaneous
c. acetabulum

d. ishial tuberosity
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The sternocleidomastoid acting unilaterally rotates the head.

[ ITrue [ JFalse

The gracilis inserts on...

a. the anterior and medial surface of the shaft of the tibia

b. middle third of medial lip of linea aspera

c. on a line extending from lesser trochanter
to upper part of linea aspera

d. lateral portion of radius
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